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UNIVERSITY OF NORTH BENGAL
B.Sc. General Part-II Examination, 2022

MICROBIOLOGY

PAPER-IV
Time Allotted: 2 Hours Full Marks: 45

The figures in the margin indicate full marks.

1. Answer the following: I1x9=9

ke erefr Teq nies

(a) Why DNA has negative charge?
DNA ¥ bIeg& e 9

(b) Name one virus with icosahedral capsid.
SIRCPAIREN F7eye G SIZAICH w1 @191

(c) What are proviruses?
Provirus 7 ?

(d) What is PFU?
PFU & ¢

(e) Define mutation rate.
RIS @67 e wis |

(f) What is Burst size?
T g 1 9

(g) What is replisome?
e & ¢

(h) In T4 phage, which protein is termed as the portal protein?
T, FICE N6 @i terte F @i 9

(1) What is photoreactivation?

FoIfefEre s & ¢
2. Answer any two of the following: 9x2 =18
fasfeie @-@iw 75 eltsm Ted nies
(a) Write about the process of assaying TMV and plaque assay for bacteriophages. 4%+4%

TMV-93 assay &l 8 FFLRGFIEH AT assay TICH @121

(b) Describe the discovery and mechanism of bacterial transformation. 4+5

AT T Toelld € oiafe 790 SiEna $41
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(c) Discuss about different enzymes involved in DNA replication. 9
DNA G 7200 Tbrfer 790s @191

(d) Write short notes on: 3x3=9
WY Bl @19e

(i) DNA proofreading / T6.qd.9 eFffE:
(i1) Hfr strains
(iii) Morphological classes of viruses. / SIZAIR TRFETGHIE FITIZ

3. Answer any three of the following: 6x3=18

e @-coie foqfb evea Ted wiss

(a) What is the mechanism of excision repair of a UV damaged DNA? 6
@36 UV Usiiers DNA-€3 Excision RoRIF siafe eI €06 ¢

(b) Write about frameshift mutations and its implications. 6
ARG T 8 @7 2[SIF =9I @4

(c) Describe lysogenic conversion and its significance. 6
FABENET SIS @ @7 Bleoid 3t 41

(d) Describe the structure of Coliphage T4. Differentiate between temperate and 4+2

virulent phages.

Coliphage Ty-43 95 I T2 GEG 8 fSFeT6 wIed 20 @74

(e) Discuss about salient features of genetic code. 6
(AP (FICH CIFEPTR G191

(f) Write about specialised transduction. 6
CoPMIIGTIZAG BIFTCIF=I FHCH (74|
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